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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 910 6.7 2 9 74.3 100
2 909 8 2.8 12 67 99.9
3 890 5.6 2.4 10 56 97.8
4 901 7.9 3 13 60.8 99
5 906 7.7 2.3 12 64.2 99.6
6 909 7.9 2.6 12 65.4 99.9
7 903 6.1 2.3 12 51.1 99
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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GCE BUSINESS - UNIT 3 (NEW) 
 


SUMMER 2017 MARK SCHEME 


1 (a) Calculate the value of the variances for (i), (ii) and (iii) stating in 


each case whether the variances are adverse or favourable. 


Total  


 (i) Award 1 mark for correct calculation of sales revenue variance 
               
                       AO2:   1 mark 
 
Variance = 1550 – 2100 = £550 favourable   


or  


Variance = 1 550 000 – 2 100 000 = £550 000 favourable  


 


(ii) Award 1 mark for correct calculation of cost of sales variance 


 
                       AO2:   1 mark   
 
Variance = 950 – 1250 = £300 adverse 


or  


Variance = 950 000 – 1 250 000 = £300 000 adverse  


 
(iii) Award 1 mark for correct calculation of gross profit variance 
 
                       AO2:    1 mark  
 
Variance = 600 – 850 = £250 favourable 


or  


Variance = 600 000 – 850 000 = £250 000 favourable  


3 


 


  







 


© WJEC CBAC Ltd. 2 


1 (b) 


 


Identify and outline possible reasons for the variances in revenue and 


costs of sales for Sian’s Ice Creams Ltd.      [6] 


Band AO1 AO2 


3 marks 3 marks 


3 


3 marks 


Excellent understanding of the 


reasons for change in revenue and 


costs identified. 


 


Key reasons are identified and 


clearly understood. 


3 marks 


Excellent application of case study 


scenario in outlining likely reasons for 


variances. 


 


Clear and consistent relevance to the 


case study and situation. 


2 


2 marks 


Good understanding of the reasons 


for change in revenue and/or costs 


identified. 


 


 Reasons are identified and an 


attempt is made to understand the 


reasons for the variances. 


 2 marks 


Good application of case study scenario in 


outlining likely reasons for variances. 


 


Links to the case study when explaining 


possible reasons. 


1 


1 mark 


Limited understanding of a reason 


for change in revenue or costs 


identified. 


 


Answers are brief and show limited 


understanding. 


1 mark 


Limited application of case study scenario 


in outlining likely reasons for variances. 


 


The response is mainly theoretical with 


little reference to the case study scenario. 


0 


0 marks 


No knowledge or understanding of 


variance identified. 


0 marks 


No application of case study scenario 


when explaining likely reasons for 


variance. 
 


Indicative content: 
 
A favourable variance in sales revenue may be due to increased popularity of the product.  
As Sian’s Ice Cream Ltd seems to be trading in traditional British tourist locations, an 
increase in tourists to these locations, perhaps due to a warmer than average summer, may 
have led to a greater than expected level of purchases of ice creams. 
 
Additionally, Sian has just introduced some new flavours to the market. A favourable 
variance may have been achieved by the market taking a liking to these new products.  The 
higher than expected demand will lead to a favourable variance in sales revenue. 
 
An adverse variance in cost of sales may be derived from an increase in the direct cost of 
sales.  As sales revenue shows a positive variance it is likely that more ice cream has been 
produced and sold over the trading period.  As a result, the increase in sales has produced 
an increase in the use of raw materials such as sugar and milk.  This has created an 
adverse variance in the cost of sales. 
 
Credit any other valid point. 
  












Q1a: 3 marks.



Sticky Note

All correct although there is no need for + sign.  A pound sign would be appropriate.



Sticky Note

This is a valid point but the context has not been used.  Therefore, AO2 marks have not been gained.



Sticky Note

Again, this paragraph is not in context.







Q1b: 4 marks.
Q1 total: 7 marks.



Sticky Note

This point is applied and therefore the candidate achieves an AO2 mark.












Q1a: 3 marks.



Sticky Note

All 3 answers contain pound signs, a comment on the adverse/favorable nature of the answer and the correct numerical total.



Sticky Note

This point makes use of the case study to explain the increase in sales revenue.



Sticky Note

Here the second point makes use of the new flavours to explain the increase in sales revenue.







Q1b: 6 marks.
Q1 total: 9 marks.



Sticky Note

A third point makes use of applied reasons for the cost of sales.  Both sales revenue and cost of sales are applied at this point giving access to the higher bands in the mark scheme.



Sticky Note

AO1: 3 marks
AO2: 3 marks












Q1a: 3 marks.



Sticky Note

All responses have pound signs, correct numerical answers and comments as to whether the response is adverse of favourable.







Q1b: 4 marks.
Q1 total: 7 marks. 



Sticky Note

AO2 marks achieved through use of the case study scenario.



Sticky Note

In terms of cost of sales there is some application here.  However, Sian does not own shops, she is a manufacturer. Additionally, shops are not a cost of sale.
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Sticky Note

AO1: 2 marks.
AO2: 2 marks.
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(1510U30-1)


Examiner
only


Answer all the questions in the spaces provided.


1.	 Sian’s Ice Cream Ltd


	 Sian’s Ice Cream Ltd is a family run manufacturer of quality ice cream. Founded in 1984 by 
Sian Jones, the company has grown steadily selling to many retail outlets in popular holiday 
destinations in South Wales, Devon and Cornwall. Recently, Sian had introduced some new 
flavours to the product range and was keen to see how well they had sold.


	 At the end of a very hot summer Sian sat down to study the outcome of her budget forecast as 
shown in the table below.
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Budgeted
(£000s)


Actual
(£000s)


Variance
(£000s)


Sales Revenue 1 550 2 100 (i)
Cost of Sales 950 1 250 (ii)
Gross Profit 600 850 (iii)


	 (a)	 Calculate the value of the variances for (i), (ii) and (iii) stating in each case whether the 
variances are adverse or favourable.	 [3] 


	 (i)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	 (ii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	 (iii)	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


	


	 (b)	 Identify and outline possible reasons for the variances in revenue and cost of sales for 
Sian’s Ice Cream Ltd.	 [6]
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2 (a) Calculate the price elasticity of demand for The Glider board. 


Show your workings. 


Total  


  
Award 1 mark for correct price elasticity of demand (PED) formula 


 
  PED= % change in quantity  
             % change in price                     AO1:  1 mark 
 
Award 1 mark for correct calculation of % change in quantity                      


 
108-120 x 100 = -10%                           AO2:  1 mark 
   120 
Award 1 mark for correct calculation of % change in price                 
 
  600-500 x 100 = 20%                          AO2:  1 mark 
     500 
Award 1 mark for correct calculation of PED  


 
PED = -10 = -0.5 (inelastic)                    AO2:  1 mark 


            20 


 


OFR applies 


 


4 


 


2 (b) With reference to both quantitative and qualitative data above, discuss 


whether Steve Summers should increase the price of 'The Glider' during 


summer 2017.         [8] 


Band AO1 AO2 AO3 AO4 


2 marks 2 marks 2 marks 2 marks 


2 


2 marks 
Good understanding 
of pricing decision 
making use of 
quantitative and 
qualitative 
information. 
 


2 marks 
Good application of 
pricing decision to 
Wipeout Ltd. 
 
The learner makes 
effective use of the 
data and text. 


2 marks 
Good analysis of 
the impact of 
pricing decision 
making use of 
quantitative and 
qualitative 
information. 


2 marks 
Good evaluation of 
the pricing decision 
making use of 
quantitative and 
qualitative 
information. 
 
Balanced argument 
made. 


1 


1 mark 
Limited 
understanding of 
pricing decision 
making use of 
quantitative and/or 
qualitative 
information. 
 


1 mark 
Limited application 
of pricing decision 
to Wipeout Ltd. 
 
The learner makes 
some use of the 
data or text. 
 


1 mark 
Limited analysis 
of the impact of 
pricing decision 
making use of 
quantitative 
and/or qualitative 
information. 


1 mark 
Limited evaluation 
of the pricing 
decision making 
use of quantitative 
and/or qualitative 
information. 
 
Unsupported 
judgements made. 


0 


0 marks 
No understanding of 
pricing decision. 


0 marks 
No application of 
pricing decision to 
Wipeout Ltd.  


0 marks 
No analysis of 
pricing decision. 


0 marks 
No evaluation of 
pricing decision.  
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Indicative content: 
 
With a price elasticity level of -0.5 The Glider is price inelastic.  This will mean that an 
increase in price will lead to an increase in the revenue (£60 000 to £64 000) generated from 
sales.  Therefore, quantitatively, it would seem to make sense to increase the price. 
 
One factor leading to a high level of price inelasticity could be that the business has 
developed a strong brand name over a number of years.  This would support the idea of the 
product being price inelastic due to high customer loyalty. 
 
It is clear from the text that Wipeout Ltd. have previously been so busy that, during their 
peak season, demand has exceeded the capacity to supply.  Therefore, if Steve does not 
increase the price of The Glider, he is likely to lose revenue from unfilled orders. 
 
In summer 2017 Wipeout Ltd.’s home town, Newquay, will host the UK surfboarding 
championships.  This is likely to significantly increase demand for their surfboards making an 
increase in the price for their competition level board, The Glider, a good way of increasing 
sales revenue. 
 
However, a 20% increase in price for an existing board may be seen as profiteering.  
Therefore, the predicted fall from 120 to 108 boards may be incorrect leaving the business 
with a poor reputation and stocks of unsold boards. 
 
It may be better for Steve to increase the capacity of the business by purchasing more 
machinery or hiring more staff in the peak season.  This would assist in coping with peak 
demand, which seems to be a reoccurring problem.  Therefore, Wipeout Ltd. will be able to 
generate an increase in income without raising prices. 
 
In conclusion, surfing is likely to be a niche market.  Therefore, an increase in prices for 
short-term advantage may be problematic in the long-term as customers, disgruntled with 
the price increase, move to other brands. 
 
Credit any other valid point. 
  












Q2a: 0 marks.



Sticky Note

Formula missing the % therefore incorrect



Sticky Note

Neither % change is correctly calculated



Sticky Note

Answer is incorrect as the formula used to generate it is incorrect.



Sticky Note

First point makes good use of the answer to part (a).  The assertion shows good understanding of elasticity.







Q2b: 7 marks: 
Q2 total: 7 marks.



Sticky Note

This point makes use of the case study scenario to make a valid judgment.



Sticky Note

Point 3 also makes good use of the case study to make a valid point



Sticky Note

Finally a suitable judgment is made which is justified.



Sticky Note

AO1: 2 marks.
AO2: 2 marks.
AO3: 1 mark.
AO4: 2 marks.












Q2a: 4 marks.



Sticky Note

Correct formula
Correct calculation of percentage change in quantity and price.
Correct use of the formula to generate the answer of 0.5.  Minus sign is not required.



Sticky Note

The quantitative paragraph makes use of both the calculation from part (a) and the revenue change is calculated in order to consider the level of benefit.








Q2b: 7 marks.
Q2 total: 11 marks.



Sticky Note

Equally, this qualitative paragraph makes good use of the circumstances in the case study and goes on to from effective analysis.




Sticky Note

Although the overall conclusion is largely a reiteration of the earlier points it is valid.




Sticky Note

AO1: 2 marks.
AO2: 2 marks.
AO3: 2 marks.
AO4: 1 marks.












Q2a: 2 marks.



Sticky Note

Correct expression of formula
Incorrect calculation of percentage changes as answers not times by 100.
Correct use of the formula to create answer.
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Sticky Note

The quantitative discussion demonstrates a good understanding of price elasticity.  The candidate also calculates the increase in revenue from the proposed new price.
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Q2b: 6 marks.
Q2 total:  8 marks.



Sticky Note

The qualitative data is utilised less well in terms of developing analysis but the candidate is clearly utilising the situation to develop AO2 marks.




Sticky Note

The conclusion is mainly reiteration of earlier points but is valid for limited evaluation.
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Sticky Note

AO1: 2 marks.
AO2: 2 marks.
AO3: 1 mark.
AO4: 1 mark.
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Examiner
only


2.	 Wipeout Ltd


	 Wipeout Ltd is a manufacturer of surfboards. Since starting the business in Newquay, Cornwall 
in 2002 the business has developed a strong brand name in the sport of surfboarding. During the 
summer months when sales are at their maximum level, Wipeout Ltd cannot produce surfboards 
quickly enough to meet demand.


	 In summer 2017, the town of Newquay will host the UK surfing championships. Steve Summers, 
Wipeout Ltd’s Managing Director, is thinking of increasing the price of their competition level 
surfboard, ‘The Glider’, during this time.


	 ‘The Glider’ has a retail price of £500. However, Steve is considering increasing the price to 
£600. Steve thinks that because of the extra interest generated from the UK surfboarding 
championships, demand will only fall from 120 to 108 boards meaning that the company will not 
run out of stock during this busy period.


	 (a)	 Calculate the price elasticity of demand for ‘The Glider’ board. Show your workings.	 [4] 


	


	


	


	


	


	


	


	


	 (b)	 With reference to both the quantitative and qualitative data above, discuss whether Steve 
Summers should increase the price of ‘The Glider’ during summer 2017.	 [8]
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4 (a) Using the data in table 1, complete the network diagram:  


 


label the activities 


the time required for each task 


calculate the earliest start times and the latest finishing times. 


 


Total  


 Award 1 mark for correct labelling of activity lines (A-G).  
Award 1 mark for correct labelling of time required for each task.  
Award 1 mark for correct EST calculations.   
Award 1 mark for correct LFT calculations (OFR applies). 


 
       AO2: 4 marks 


 
 


4 


 


 


(b) Mark the critical path on the diagram. Total  


  
Award 1 mark for correct identification of the critical path as B, C, D, 


G. 
 


AO2: 1  mark 


 
 


 
1 
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4 (c) Discuss the usefulness of critical path analysis to businesses such as Mine-All-


Mine.    [8] 


Band AO1 AO3 AO4 


2 marks 4 marks 2 marks 


3 


 3-4 marks 
The learner gives an 
excellent analysis of the 
usefulness of critical 
path analysis. 
 


Key issues are 
discussed in detail. 
 


 


2 


2 marks 
Good understanding of the 
usefulness of critical path 
analysis. 
 


2 marks 
Good analysis of the 
usefulness of critical 
path analysis. 
 


A number of key points 
have been well-
developed and clearly 
discussed. 


2 marks 
Good evaluation of the 
usefulness of critical path 
analysis. 
 


The evaluation includes some 
key issues. 
 


The learner makes partial 
judgements, with some 
attempt to support their 
evaluation. 


1 


1 mark 
Limited understanding of 
the usefulness of critical 
path analysis. 
 


1 mark 
Limited analysis of the 
usefulness of critical 
path analysis. 
 


Superficial discussion. 


1 mark 
Limited evaluation of the 
usefulness of critical path 
analysis. 
 


Unsupported judgements are 
made. 


0 


0 marks 
No understanding of the 
usefulness of critical path 
analysis. 


0 marks 
No analysis of the 
usefulness of critical 
path analysis.  


0 marks 
No evaluation of the 
usefulness of critical path 
analysis.  


 


Indicative content: 
 
For:  


 In complex activities such as the opening of a store there may be a schedule of activities to 
undertake.  By using time series analysis a business will be able to identify when each 
activity needs to take place in order that they can establish the completion time of the activity. 
This will enable businesses to identify product launch dates or dates for a store opening. 
Advertising may then be organised around these dates. 


 The critical path will enable businesses to identify activities which cannot be slowed down 
without extending the overall time it will take to complete a project.  In this case, as the 
scheduled activities will take eight weeks to complete, only one week may be added to the 
total time before the business misses its deadline for the shop opening. 


 
Against: 


 Although a network diagram may show that a process seems to complete in time for a 
product launch date or a shop opening date, all of the activities will have estimated times.  
Therefore, any slowing down of the activities on the critical path could cause deadlines to be 
missed. 


 Some time frames for activities may be optimistic.  For example, in this case, only leaving 2 
weeks to negotiate with a range of specialist mines might lead to limited time to agree prices.  
This could end in the business paying more for stock than would otherwise be the case. 


 
Credit any other valid point. 












Q4a: 4 marks.


Q4b: 0 marks.



Sticky Note

The diagram is complete and correct.



Sticky Note

The critical path is unclear.  The candidate could mean B, C, D, G or E, F, G. 0/1








Q4c: 4 marks.
Q4 total: 8 marks.



Sticky Note

A reasonable knowledge point for AO1



Sticky Note

Again, knowledge is present but development for AO3 is weak.



Sticky Note

Mainly knowledge with little development for AO3.



Sticky Note

Judgements are formative with little supporting evidence.



Sticky Note

AO1: 2 marks.
AO2: 0 marks.
AO3: 1 mark.
AO4: 1 mark.












Q4a: 4 marks.


Q4b: 1 mark.



Sticky Note

The diagram is correctly labelled.



Sticky Note

The critical path is marked correctly with double score marks.







Q4c: 5 marks.
Q4 total: 10 marks.



Sticky Note

This response shows a good understanding of critical path analysis.  Analysis is present and has some development.  



Sticky Note

The use of float in a discussions demonstrates a more developed understanding of critical path analysis.



Sticky Note

Again, there is a good level of discussion here to develop the point.  Judgment is present but has little supporting evidence and is brief.



Sticky Note

AO1: 2
AO3: 2
AO4: 1












Q4a: 4 marks.


Q4b: 1 mark.



Sticky Note

Activities and timings are labelled with some inconsistency.  Although the activity name should be above the line and the time value below the line the candidate still achieved the mark.  EST and LFT are correctly calculated.
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Sticky Note

The critical path is marked correctly with double score marks.







Q4c: 5 marks.
Q4 total: 10 marks.



Sticky Note

Point made for AO1 progressing to development for AO3. 



Sticky Note

Candidate attempts to finish paragraphs with judgment for AO4.



Sticky Note

Again, the basic point is made then progression into AO3 is attempted to develop a fuller response.



Sticky Note

Evaluation is limited and does not add to the argument.
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Sticky Note

AO1: 2 marks.
AO3: 2 marks.
AO4: 1 mark.












8


(1510U30-1)


Examiner
only


4.	 Mine-All-Mine 


	 Mine-All-Mine is a specialist shop selling products made from slate, tin and gold found in Welsh 
mines. In preparation for the grand opening of their new shop in Wrexham in nine weeks’ time, 
Mine-All-Mine need to carry out the following activities:


© WJEC CBAC Ltd.


Activity letter Activity Preceded by Duration (weeks)


A Adapt shop – 4


B Identify suppliers – 3


C Negotiate with 
suppliers B 2


D Order goods to 
stock shop A, C 2


E Recruit workers – 3


F Train workers E 2


G Stock shop D, F 1


	 Table 1: Activities for the opening of Mine-All-Mine’s new shop in Wrexham.


	 (a)	 Using the data in Table 1, complete the network diagram below, including: 


		  labelling the activities 
		  the time required for each task
		  calculate the earliest start times and the latest finishing times.	 [4]


	 (b)	 Mark the critical path on the diagram.	 [1]


A


B







(1510U30-1) Turn over.


15
1


0
U


3
0


1
0
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9
Examiner


only
	 (c)	 Discuss the usefulness of critical path analysis to businesses such as Mine-All-Mine.	[8]
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